
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Το	
  ένα	
  από	
  τα	
  τρία	
  τμήματα	
  του	
  αναπαραγωγικού	
  συστήματος	
  του	
  άνδρα	
  είναι	
  
το	
  πέος.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  
α)	
   Πώς	
   ονομάζονται	
   τα	
   τρία	
   σώματα	
   που	
   το	
   αποτελούν,	
   πώς	
   το	
   δέρμα	
   που	
   τα	
  
περιβάλλει;	
  (4μ)	
  

β)	
  Ποιες	
  μεταβολές	
  γίνονται	
  στο	
  πέος	
  κατά	
  τη	
  στύση;	
  Πού	
  οφείλονται;	
  (4μ)	
  	
  

γ)	
  Πώς	
  ονομάζεται	
  το	
  τμήμα	
  της	
  πόσθης	
  που	
  καλύπτει	
  τη	
  βάλανο	
  του	
  πέους;	
  Πότε	
  
τραβιέται	
  προς	
  τα	
  πίσω	
  αποκαλύπτοντας	
  τη	
  βάλανο;	
  Τι	
  συμβαίνει	
  όταν	
  το	
  άνοιγμα	
  
του	
  τμήματος	
  αυτού	
  είναι	
  στενό;	
  (4μ)	
  	
  

	
  
ΙΙ.	
  Με	
  τον	
  όρο	
  «πίεση	
  του	
  αίματος»	
  αναφερόμαστε	
  στην	
  πίεση	
  που	
  ασκεί	
  το	
  αίμα	
  
μας	
   στα	
   τοιχώματα	
   των	
   αγγείων,	
   κατά	
   την	
   κίνησή	
   του.	
   Να	
   απαντήσετε	
   στις	
  
ερωτήσεις:	
  

α)	
   Πώς	
   μεταβάλλεται	
   η	
   πίεση	
   καθώς	
   το	
   αίμα	
   κινείται	
   από	
   τις	
   αρτηρίες	
   προς	
   τις	
  
φλέβες;	
  (3μ)	
  

β)	
  Που	
  οφείλεται	
  η	
  μεταβολή	
  της	
  πίεσης	
  που	
  παρατηρείται	
  στις	
  φλέβες;	
  (3μ)	
  

γ)	
  Η	
  πίεση	
  στα	
  τριχοειδή	
  αγγεία	
  είναι	
  ελαχιστοποιημένη.	
  Ποια	
  ωφέλεια	
  αποκομίζει	
  
ο	
  οργανισμός	
  από	
  αυτό;	
  (4μ)	
  

δ)	
   Το	
   αίμα	
   προωθείται	
   στις	
   αρτηρίες	
   λόγω	
   της	
   συστολής	
   των	
   κοιλιών.	
   Πώς	
  
επιτυγχάνεται	
  η	
  προώθηση	
  του	
  αίματος	
  στο	
  εσωτερικό	
  των	
  φλεβών;	
  (3μ).	
  	
  

	
  
ΘΕΜΑ	
  Δ	
  
	
  
Οι	
  ορμόνες	
  δεν	
  θα	
  μπορούσαν	
  να	
  δράσουν	
  στα	
  κύτταρα	
  στόχους	
   τους,	
  αν	
  δεν	
  
υπήρχαν	
  ειδικοί	
  υποδοχείς	
  με	
  τους	
  οποίους	
  να	
  συνδέονται.	
  Να	
  απαντήσετε	
  στις	
  
ερωτήσεις:	
  
	
  

I. Πώς	
   φθάνουν	
   οι	
   ορμόνες	
   στα	
   κύτταρα	
   που	
   αποτελούν	
   στόχους	
   τους;	
   Πού	
  
βρίσκονται	
   οι	
   υποδοχείς	
   για	
   κάθε	
   μια	
   από	
   τις	
   δύο	
   κατηγορίες	
   ορμονών	
   που	
  
υπάρχουν;	
  	
  
	
  

II. Εξηγήστε	
   τον	
   τρόπο	
   με	
   τον	
   οποίο	
   δρα	
   κάθε	
   μια	
   από	
   τις	
   δύο	
   κατηγορίες	
  
ορμονών,	
  αφού	
  συνδεθούν	
  με	
  τους	
  υποδοχείς	
  	
  αυτούς.	
  (12+13μ)	
  

	
  


